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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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12:55 273 150.0 = {Ri%e12:55 B (REAERSE)
13:40 273 150. 0 El BRi&e13:40 Bz CGRAEREE)
14:30 273 150.0 = {Ri%e14:30 B3 (RFAERSE)
15:25 273 150.0 E| {Rige15:25 Bzh (RE{ERSE)
16:30 273 150.0 = Ri8016:30 Bah (RAEESE)
24t 3276.0 (12)%) 1800. 0 32K EC: 2080.0, PH: 5.6

#HEKRECE (2223.0 vs 3803.0) id5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-3_0, Day=56 (2025-05-24)

T e e S T
VI, V0, FRV, ET - VI, VO, FVI, EVO, FRV, adjFRV, ET
1969 989 - 2000
100 | 1700 ol
284 1400
50 - L 1000
40 40
Warning: lcol [FVI',| "FVO’'] missing
0 + -0
200 4w vi —— ME H30
FRV maxM
B e e 2. ¢ - < & - & & £ & @ [ 25
(NN
50
1.0 I I I
1
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=5.6 N
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
3004 "ByInit @D58 01:41: ET=1653 Fg=2250.0 Ro=443.0 3000
1
1
200 - : - 2000
1
1
100 : - 1000
1
1
o A—2—2 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
5 5 5 i 5 5 5 i 5 5 G A B 5 5 A B 5 G A B 5 G A
1
. . = = = 1
900 - ByEt @D56 19:10: ET=1741 Eg=1950. 0 Ro=nan ! | 2000
100 - 1000
0 | — . e 0
300 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 3000
g | B | B | B | B |KB|[B|B|B|B| B 5 5 | BB | BB 5 5 REREFANEL 5 i 5
1
ByWoFv @D58 01:41: ET=1483 Fg=1800.0 Ro=388.0
200 - i - 2000
: g ° =—8—s
! )
100 : I I I - 1000
1
I \
1.0 | —— — JJ \I\’ e 0
) 0 1 2 3 4 5 6 7 8 9 10 11 12 13 1 15 16 17 18 19 20 21 22 23
0.8 4 5 | BB | BB | BB | B ||| B|KE| B i 5 5 | BB | BB 5 5 REREFANEL 5 i 5
0.6 -
0.4 1
0.2 A
0.0
1500 4 _— A

[ ] | _obs
—@— PPFD obs

60

40 ~

RH_obs
RHo_obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



15.

15.

15.

14.

14.

14.

15.

15.

15.

15.

15.

15.

15.

15.

15.

15.

15.

15.

T
600

860
m=600,n FV0=0

——

M_E

665 6%0
m=765,n FV0=0

750 7%5
m=940,n FV0=0

90

85 -

80 ~

75 -

70

65

60 -

940

945 950

14.

14.

13.

13.

15.

15.

15.

15.

15.

14.

14.

15.

15.

15.

15.

15.

15.

15.

15.

15.

15.

m=465, FV0=0

M_E

4%0 4%5
m=645,n FV0=0

6%0 665
m=800,n FV0=0

865 8%0
m=990,n FV0=0

800

==

M_E

990 995 1000

14.

14.

14.

14.

14.

14.

14.

15.

15.

15.

15.

15.

15.

15.

15.

15.

15.

15.

m=495, FV0=0

——

M_E

495

560 565
m=685,n FV0=0

——

M_E

6é0 665
m=845,n FV0=0

M_E

845

850 855

600

800

1000

15.

15.

14.

14.

14.

14.

15.

15.

15.

15.

15.

15.

15.

15.

15.

15.

15.

22.

21.

21.

20.

20.

m=535, FV0=0

—o— M_E

5é0 5é5
m=730,n FV0=0

7é5 7&0
m=890,n FV0=0

865 960
m=465,n FV0=0

890

-— MW

465 470 475




m=495, FV0=0

—— MW
23.5
23.0
22.5
22.0
T T T
495 500 505
m=685,m FV0=0
24.0 - —o— MW
23.5
23.0
22.5
T T T
685 690 695
m=845,m FV0=0
—— MW
24.5
24.0
23.5
23.0
845 850 855

23.

23.

22.

22.

24.

23.

23.

22.

25.

24.

24.

23.

23.

m=555, FV0=0
—— MW
5 .
0 .
5 .
0 .
555 560 565
m=730,m FV0=0
o4 —e— wmw
5 .
0 .
5 .
7éo 755 750
m=890,m FV0=0
01 —— MW
5 .
0 .
5 .
0 .
850 365 960

23.

23.

22.

22.

24.

24.

23.

23.

25.

24.

24.

23.

m=600, FV0=0
—— MW
5 -
0 -
5 -
0 -
600 605 610
m=765,m FV0=0
97 —— N
0 -
5 -
0 -
765 770 775
m=940,m FV0=0
—— MW
0 -
5 -
0 -
5 -
940 945 950

23.

23.

22.

22.

24,

24,

23.

23.

25.

25.

24.

24.

m=645, FV0=0
5 —o— MW
0 -
5 -
0 -
645 650 655
m=800,m FV0=0
—o— MW
5 -
0 -
5 -
0 -
800 805 810
m=990,m FV0=0
5 —— MW
0- =00
5 -
0 .
990 995 1000




hour

:00 -

:30 -

)
:45
:30
115
115
110
110

&S

100

80

- 60

- 40

20



P3-3

BrE) | GEBAK (3 | ERE (EH/R) (XS R

07:10 278 150.0 (Z=| {Ri%@07:10 Bz (REAHERESR)
08:00 278 150.0 (% =| 1Bi&e08:00 BHzh (FRHEERESE)
08:50 278 150.0 [Z=| 1BRi%@08:50 Bzh (KAL)
09:50 278 150.0 & =| 1Ri%@09:50 Bz (KAEREEE)
10:55 278 150.0 & =| 1Ri%@10:55 B3h (KRAHERESE)
11:45 278 150.0 | =| 1Rige11:45 Bz (RAEREE)
12:30 278 150.0 [Z=| 1BRige12:30 Bzh (REERESE)
13:15 278 150.0 FH| {Ri%e13:15 B (RAERESE)
14:15 278 150.0 FA| {Ri&@14:15 Bz CGRAEREE)
15:10 278 150.0 FE| 1Ri&@15:10 Bz (RFAERESE)
16:10 278 150.0 FA| 1BRi%@16:10 B3h (RA{ERESE)
23t+]3058.0 (117%) 1650. 0 33 KEC: 2080.0, PH: 5.6

##[EKECE (2080.0 vs 3987.0) id5



FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

P3-3_0, Day=55 (2025-05-23)

ET (ml/hr/plant)

150 Fo—————F——————F——————F-—————F——————F——————F——————F——————F——————F——————f——————F-————]
VI, VO, FRV, ET - VI, VO, FVI, FVO, FRV, adjFRV, ET 19691 5000
1700 650
i 1432 i =
100 1200 319 1500 -
1000 ~
50 - 40 20
40 - 500
Warning: lcol [FVI',| "FVO’'] missing
0 -0
200 4 Vi — ME H30
FRV maxM
T — s s+ < - < - <l - - ] - 25
IHIERIRREN] .
100" - - - - - - - - - - __20E
o IHIEEINNEN
2 15
L i o I 1 I I 1
4
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=5.6 N
0.6 -
0.4 4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
Bylnit @D58 01:41: ET=1711 Fg=2250.0 Ro=578.0 3000 _
300 - I 2
° b ° 2000%
200 - +—eo—9 =
'—
100 - -1000'-'%
01 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 (3)000
300 PH | B | BB | B | BB |B|B|B| B B 5 | B | BB | BB 5 5 5 i : 5 5 5 B 5 2
ByEt @D55 19:09: ET=1612 Fg=1683. 0 Ro=nan I -g
200 - I -2000>
'-~ﬂ1/// : I 1 -
'—
100 - - | 1 ‘1000'-&
L 3
b o—06—0——0 90— I I I o
0 —a o P — P 1 — 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 3000
300 [H BH A FH [H BH G EREREAEREREEAEA EEAR [A FH [H BH G ERERERR NG 5 i~
1 c
ByWoFY @D58 01:41: ET=1312 Fg=1650.0 Ro=346.0 2000-%
- X
2007 i \/ —$—8—9—9 C
'—
100 4 : _— I ‘1000'-%
1 5}
e I i1
1.0 — P4 -G — 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
0.8 - [H BH A FH [H BH G EREREAEREREEAEA EEAR [A FH [H BH G ERERERR NG 5
0.6 -
0.4 1
0.2 A
0.0
—_— 4
1500 - [ ] | _obs
—@— PPFD obs
1000 +
RH .
80 RH_obs
RHo_obs




m=490, FV0=0 m=515, FV0=0 m=570, FV0=0

~— .21 o ¢ 1531 o 4
14. 6 15. 1 4
15.2 -
15.0 -
14,4 -
14.9 - 15.1 -
14.8 -
14.2 - 150
14.7 -
14.0 - 14.6 - 14.9 -
T T T T T T T T T T T T T T T
500 600 700 800 900 1000 490 495 500 515 520 525 570 575 580
m=615,m FV0=0 m=665,m FV0=0 m=715,m FV0=0 m=755,m FV0=0
5.4 o ue 1551 o we 1551 o e 1561 o e
15.3 - 15. 4 - 15. 4 - 15.5 -
15.2 - 15.3 - 15.3 - 15. 4 -
15.1 - 15.2 - 15.2 - 15.3 -
15.0 - 15.1 - 15.1 - 15.2 -
T T T T T T T T T T T T
615 620 625 665 670 675 715 720 725 755 760 765
m=800,m FV0=0 m=855,m FV0=0 m=900,m FV0=0 m=955,m FV0=0
1571 o we 1567 o e 15. 60 - 1571 o we
15. 6 - 15.55 1 15. 6 -
15.5 -
15. 50 -
15. 5 - 15.5 -
15. 4 - 15. 45 -
15. 4 - 15. 4 -
15. 40 -
15.3 -
15. 3 - 15. 35 - 15.3 -
15.2 - 15.2 - 15. 30 - = MEL 55
800 805 810 855 860 865 900 905 910 955 960 965
m m=490,m FV0=0 m=515,m FV0=0 m=570,m FV0=0
25 - 23.0
—— MW VT —e— mw —o— MW —— MW
24.0 4
24.0
24 22.5
23.5
23 22.0 - 23.5 7
23.0 4
99 - 21.5 - 23.0 4
1 21.0 4 22.5
21 0 22.5 -
500 600 700 800 900 1000 490 495 500 515 520 525 570 575 580

m m m m



m=615, FV0=0 m=665, FV0=0
—o— mw | %57 —— MW
24.0 1
24.0 1
23.5 1
23.5 1
23.0 1
23.0 1
T T T T T T
615 620 625 665 670 675
m=800,m FV0=0 m=855,m FV0=0
24.57 —o— MW | 245 —— MW
24.0 1
24.0 1
23.5 1
23.5 1
23.0 1
23.0 1
225 1
‘ | 22.5 1 .
800 805 810 855 860 865

24.

23.

23.

22.

24.

24.

23.

23.

m=715, FV0=0

- MW
0 -
5
0 -
5
T T T
715 720 725
m=900,m FV0=0
- MW
5
0 -
5
0 -
T T
900 905 910

m=753, FV0=0

24.0 -

23.5 A

23.0 A

22.5 A

—0—

MW

25.0

755

T T
760 765

m=955,m FV0=0

24.5 A

24.0 A

23.5 A

23.0 A

—0—

M_W

955

960 965




hour

145

145

125

125

:05

100




P3-3

BjiE) | EBEETIK (F)) | EBE (BAH/K) | XS R

06:45 278 150.0 |Z=| 1BRi%006:45 Bzh (REERESE)
07:45 278 150.0 (& =| 1BRiB@07:45 Bzh (REEREE)
08:45 278 150.0 & =| 1Ri%e08:45 Bxh (kAIEREE)
10:25 278 150.0 PH| 1Ri%@10:25 Bz (RAERES)
12:25 278 150. 0 FH| {Ri%e12:25 Bzh (RAERESE)
14:05 278 150.0 FA| 1BRi%@14:05 B3h (RAHERSE)
Bit]1668.0 (6%) 900.0 3ZHKEC: 2080.0, PH: 5.6

#H[EKRECE (2040.0 vs 4297.0) 35




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

150 A

100 A

2

1

1

400

2

400

200 -

400

200 -

1.

0.8

0.6

0.4+

0.2~

0.0

400 ~

200 -

. 25 A

P3-3_0, Day=54 (2025-05-22)

3000

50

50 -
00 -

50 A

411

Warning: lcol ['FVI’,

"FVO' ] missing

s V&P%RY, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

143
1200

40

2
200
49

Warn

ing:

col ["WC1’,

"WC2' ] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

00 A

=TT -

o —o
— —_

p——
S
0

1

2

3

5

6

7

]
Bylni{ @D58 01:41: ET=1269 Fg=1800.0 Ro=450.0

- 2000

- 1000

8 9
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23
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A

FH | PA

FA

A

A

ByEt @D54 17:25: ET=917 Fg=1224.0 Ro=nan

- 2000

- 1000

5

6

7

8 9

19

23
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ER
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i
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%=

55| B

A

A

1
|
|
|
1
1
1

o —o
— —

I
ByWoF* @D58 01:41: ET=649 Fg=900.0 Ro=142.0

& & & o

- 2000

- 1000

1

2

20

21
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23

p——
O_L_?T—.
%=

%=

A

A

FA

A

—@— PPFD obs

| _obs

401 @
]

RH_obs
RHo _obs

VPD P

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=440, FV0=0 m=465, FV0=0 m=535, FV0=0
5 5 15.21 _q ME 15.60 1 _g ME 15.50 4 _g ME
15. 55 - 15. 45 -
15. 25 - 15.0 1
15. 50 - 15. 40 -
15.00 7 14.8 15. 45 - 15.35 -
14.75 1 15. 40 - 15. 30 -
14.6
14. 50 - 15. 35 15. 25
14. 4 - 15. 30 - 15. 20 -
14 25 - T T T T T T T T T T T T T T
500 600 700 800 900 440 445 450 465 470 475 535 540 545
m=595,m FV0=0 m=650,m FV0=0 m=690,m FV0=0 m=745,m FV0=0
15. 60 - — NE 15. 50 - 15. 60 - — NE 15. 60 - — NE
15.55 7 15. 48 1
15. 55 - 15. 55 -
15. 50 -
15. 46 -
15. 45 - —®— ME | 15.50 - 15. 50 -
15. 44 -
15. 40 -
15. 15. 45 -
15. 35 15. 42 -
15. 30 - 15. 40 - 15. 15. 40 -
T T T T T T T T T T
595 600 605 650 655 660 695 700 745 750 755
m=900,m FV0=0 m m=440,m FV0=0 m=465,m FV0=0
15.4 17 _o— M_E 25 ~ 23.5 1 _g— MW 24. 75 4 —— MW
15.3 1 23.0 - 24. 50
24
15. 2 i
99 5 24.25
23
15.1 24. 00 -
22.0
15.0 29 23.75
21.5 1
14.9 23. 50
900 905 910 500 600 700 800 900 440 445 450 465 470 475
m=535,m FV0=0 m=595,m FV0=0 m=650,m FV0=0 m=690,m FV0=0
—o— MW 25.0 1 —o— MW —o— MW 25.0 1 —o— MW
25.0 -
24. 8 1 i
24.5 1 24. 8
24. 8 -
24. 6 - 24.6
24. 6 -
24.01 24. 4 -
04 4 4 24. 4 1
24.2 1
23.5 - 24 9 - 24.2 A
24.0 1
535 540 545 595 600 605 650 655 660 690 695 700



m=745, FV0=0

25. 00 A

24.75

24.50

24.25

24.00 A

23. 75 A

—0—

M_W

745

T
750

755

m=900, FV0=0
24.5 —o— MW
24.0 A
23.5 -
23.0 -
22.5 A
T T T
900 905 910




